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Tnpsc group I / ii preliminary  
WEEK TEST 2 OF JULY, 2023 

 
1. Young Leaders Program was conducted in New Delhi and Bengaluru by, 

a. UNO      b. UNESCO 
c. France India Foundation  d. Indo US Initiative Cooperative 
e. Answer not known 
GJ nly;yp kw;Wk; ngq;fSUtpy; ,sk; jiyth;fs; jpl;lj;ij elj;jpa 
mikg;G  
a. I.eh     b. And];Nfh  
c.gpuhd;]; ,e;jpah mwf;fl;lis d. ,e;jpa –mnkhpf;f xj;Jiog;G mikg;G  
e. tpil njhpatpy;iy  

 
2. India – Israel Center of Water Technology (CoWT) is to be established in 

India with the partnership of, 
a. IIT – Madras      
b. IISC – Bengaluru 
c. Tata Institute of Fundamental Research 
d. Council of Scientific and Industrial Research 
e. Answer not known 
,e;jpa ,];uNay; ePh; njhopy;El;g ikak;> ve;j mikg;Gld; $l;L Nrh;e;J  
,e;jpahtpy; epWtg;gl cs;sJ?  
a. ,e;jpa njhopy;El;g fofk;> nrd;id  
b. ,e;jpa mwptpay; epWtdk;> ngq;f@U  
c. lhl;lh mbg;gil Muha;r;rp fofk;  
d. mwptpay; kw;Wk; njhopyf Ma;T kd;wk;  
e. tpil njhpatpy;iy  

 
3. Identify the correct statements 

1. Indian Ocean Conference (IOC) was established in 2016. 
2. 6th edition of IOC was held in Dhaka with 25 member countries. 
3. The theme was “Peace, Prosperity and Partnership for a Resilient 

Future”. 
a. 1 and 2 only  b. 2 and 3 only   c. 1 and 3 only 
d. All the above  e. Answer not known 
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rhpahd $w;Wfisf; fz;lwpf.  
1. ,e;jpag; ngUq;fly; khehL (IOC) 2016Mk; Mz;by; njhlq;fg;gl;lJ.  
2. IOC apd; 6tJ khehL 25 cWg;G ehLfSld; lhf;fhtpy; eilngw;wJ.  
3. ,jd; fUg;nghUs; ‘mikjp> nropg;G kw;Wk; nefpo;thd vjph;fhyj;jpw;fhd 

$l;lhz;ik” MFk;.  
a. 1 kw;Wk; 2 kl;Lk;  b. 2 kw;Wk; 3 kl;Lk;   c. 1 kw;Wk; 3 kl;Lk;  
d. Nkw;$wpa midj;Jk;  e. tpil njhpatpy;iy  
 

4. The first state to procure drugs under National Tuberculosis Eradication 
Programme is, 
a. Uttar Pradesh   b. Tamil Nadu   c. Gujarat 
d. Punjab    e. Answer not known 
Njrpa fhrNeha; xopg;Gj; jpl;lj;jpd; fPo; kUe;Jfisf; nfhs;Kjy; nra;j 
Kjy; khepyk;  
a. cj;jpu gpuNjrk;   b. jkpo;ehL    c. F[uhj;   
d. gQ;rhg;    e. tpil njhpatpy;iy  

 

5. Consider the following 
Assertion (A): National Medical Device Policy 2023 has been launched in 
New Delhi. 
Reason (R):New Delhi is now considered as the health capital of India. 
a. Both (A) and (R) are true and (R) is the correct explanation of (A). 
b. Both (A) and (R) are true but (R) is not the correct explanation of (A). 
c. Both (A) and (R) are false. 
d. (A) is true but (R) is false. 
e. Answer not known 
gpd;tUtdtw;iw Ma;f.  
$w;W (A) : Njrpa kUj;Jt rhjdf; nfhs;if 2023 GJ nly;ypapy;  
     mwpKfg;gLj;jg;gl;lJ.  
fhuzk; (R) : ,e;jpahtpd; kUj;Jt jiyikaplkhf jw;NghJ GJnly;yp  
     fUjg;gLfpwJ.  
a. (A) kw;Wk; (R) ,uz;Lk; rhp NkYk; (R), (A) tpw;F rhpahd tpsf;fkhFk;. 
b. (A) kw;Wk; (R) ,uz;Lk; rhp Mdhy; (R), (A) tpw;F rhpahd tpsf;fky;y.  
c. (A) kw;Wk; (R) ,uz;Lk; jtW  
d. (R) rhp Mdhy; (R) jtW  
e. tpil njhpatpy;iy  

 

6. Which country is set to host the 2023 Shanghai Cooperation Organisation 
Council of Heads of State? 
a. Russia  b. India c. China d. Pakistan   e. Answer not known 
2023 Mk; Mz;bd; ~hq;fha; xj;Jiog;G mikg;G muRj; jiyth;fs; 
$l;lj;ij elj;jTs;s ehL>  
a. u~;ah  b. ,e;jpah c. rPdh d. ghfp];jhd; e. tpil njhpatpy;iy  
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7. Jallikattu (Eruthazhuvuthal) is protect under ____ of the constitution of 
India. 
a. Article 14  b. Article 21   c. Article 48 
d. Article 29  e. Answer not known 
[y;ypf;fl;L (VW jOTjy;) ,e;jpa murpayikg;gpd; ______ d; fPo; 
ghJfhf;fg;gl;Ls;sJ.  
a. ruj;J 14  b. ruj;J 21    c. ruj;J 48   
d. ruj;J 29   e. tpil njhpatpy;iy  

 
8. 45% of 640 + 64% of 450 = _________% of 1440  

640 ,y; 45% + 450 ,y; 64% = 1440 ,y;  _______%.  
a. 54  b. 40  c. 45  d. 50    e. Answer not known 

 

9. What percentage of 
2

7
is 

1

35
 

a.2.5 % b. 5%  c. 10% d. 25% e. Answer not known 
1

35
 vd;gJ 

2

7
y; vj;jid rjtpfpjk; 

a.2.5 % b. 5%  c. 10% d. 25% e. tpil njhpatpy;iy 
 
10. In order to pass in an exam, a student is required to get 780 marks out of 

the aggregate marks. kayal got 728 mar and was declared failed by 5%. 
What are the maximum aggregate marks a student can get in the 
examination? 
a. 1050 b. 1000 c. 1100 d. 1040 e. Answer not known 
xU Nju;tpy; Nju;r;rp ngw> xU khztu; nkhj;j kjpg;ngz;fspy; 780 
kjpg;ngz;fs; ngw Ntz;Lk;. fay; 728 kjpg;ngz; ngw;W 5% - y; 
Njhy;tpaile;jjhf mwptpf;fg;gl;lJ. Nju;tpy; xU khztu; ngwf;$ba 
mjpfgl;r kjpg;ngz;fs; vd;d? 
a. 1050 b. 1000 c. 1100 d. 1040 e. tpil njhpatpy;iy 

 
11. Identify the rightly matched pairs 

1. Buland Bharat - Tawang 
2. Jal Rahat  - Assam 
3. Sudarshan Shakti - Lakshadweep 
a. 1 and 2 only   b. 1 and 3 only   c. 2 and 3 only 
d. All the above   e. Answer not known 
rhpahf nghUe;jpAs;s ,izfisf; fz;lwpf.  
1. Gye;j; ghuj;  - jthq;  
2. [y; u`j;  - mrhk;  
3. Rjh;~d; rf;jp – yl;;rj;jPTfs;  
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a. 1 kw;Wk; 2 kl;Lk;  b. 1 kw;Wk; 3 kl;Lk;  
c. 2 kw;Wk; 3 kl;Lk;  d. Nkw;fz;l midj;Jk;  
e. tpil njhpatpy;iy  

 

12. The sixth Scorpene class submarine of Project 75 is, 
a. INS Kalvari  b. INS Vagir   c. INS Vagsheer 
d. INS Khanderi e. Answer not known 
g;uh[f;l; - 75 d; MwhtJ ];fhh;gPd; tif ePh;%o;fpf; fg;gy;  
a. INS fy;thhp  b. INS thfPh;    c. INS tf;~Ph;   
d. INS fe;Njhp   e. tpil njhpatpy;iy  

 

13. The Indian documentary film that won 83rd Peabody awards is, 
a. Collective b. Writing with Fire  c. The Elephant Whisperers 
d. All that Breathes e. Answer not known 
83 tJ gPghb tpUJ ntd;w ,e;jpa Mtzg;glk;>  
a. fnyf;bt;  b. iul;bq; tpj; /gah;  c. jp vypngz;l; tp];guh;];  
d. My; jl; g;hPj;]; e. tpil njhpatpy;iy  

 
14. Identify the incorrect statements  

1. Pahruli river was believed to be located in Kumari Kandam. 
2. The most exported product from Ancient Tamilagam was Pearls. 
3. Punari was one of the words that denoted ship in Ancient Tamilagam. 
a. 1 and 2 only   b. 3 only    c. 2 only 
d. 2 and 3 only   e. Answer not known 
jtwhd $w;Wfisf; fz;lwpf.  
1. g/Wsp MW Fkhpf; fz;lj;jpy; ,Ue;jjhf ek;gg;gLfpwJ.  
2. gz;ila jkpofj;jpy; mjpfk; Vw;Wkjp nra;ag;gl;l nghUs; Kj;Jf;fs; 

MFk;.  
3. Gzhp vd;gJ fg;giyf; Fwpf;Fk; gz;ila jkpo;r; nrhw;fspy; xd;whFk;.  
a. 1 kw;Wk; 2 kl;Lk;  b. 3 kl;Lk;    c. 2 kl;Lk;   
d. 2 kw;Wk; 3 kl;Lk;  e. tpil njhpatpy;iy  
 

15. The war in which Karikala Chola won against combined forces of Cheras 
Pandyas and 11 Chieftains was happened in  
a. Venni   b. Alangaanam   c. Pariyur 
d. Avanti   e. Answer not known 
Nruh;> ghz;bah; kw;Wk; 11 NtsPh;fis fhpfhyr; Nrhod; ntw;wp ngw;w Nghh; 
ele;j ,lk;  
a. ntz;zp  b. Myq;fhdk;    c. ghhpA+h;   
d. mte;jp   e. tpil njhpatpy;iy  

 

16. The first Sangam was founded at Then Madurai by, 
a. Kadungon   b. Mudathirumaran  c. Makkeerthy 
d. Ukkira Peruvazhuthi e. Answer not known 
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Kjw; rq;fk; ahuhy; njd; kJiuapy; epWtg;gl;lJ?  
a. fLq;Nfhd;   b. Klj;jpUkhwd;   c. khf;fPh;j;jp 
d. cf;fpug; ngUtOjp  e. tpil njhpatpy;iy  

 

17. Who among the following Velirs is praised to have given blanket to a 
Peacock? 
a. Pegan b. Pari c. Kari d. Nalli e. Answer not known 
gpd;tUk; Ntsph;fspy; kapYf;F Nghh;it je;jjw;fhf Nghw;wg;gLgth; ahh;?  
a. Ngfd; b. ghhp c. fhhp d. es;sp  e. tpil njhpatpy;iy  

 

18. A total amount of Rs.1560 is to divided among A,B and C such that A 
gets 50% of what B gets and B gets 20% of what C gets. How much will 
each of them get? 
a. Rs.1100, Rs.240, Rs.220 b. Rs.160, Rs.200, Rs.1200  
c. Rs.1000, Rs.440, Rs.120 d. Rs.120, Rs.240, Rs.1200 
e. Answer not known 
& .1560 vd;gJ A, B kw;Wk; C f;F ,ilapy; gpupf;fg;gl Ntz;Lk;> A,  B - 
f;F fpilg;gjpy; 50% kw;Wk; B>  C - f;F fpilg;gjpy; 20% fpilf;Fk;. 
mtu;fs; xt;nthUtUk; vt;tsT ngWthu;fs;? 
a. Rs.1100, Rs.240, Rs.220 b. Rs.160, Rs.200, Rs.1200  
c. Rs.1000, Rs.440, Rs.120 d. Rs.120, Rs.240, Rs.1200  
e. tpil njhpatpy;iy 

 

19. A number is decreased by 10% and then increased by 10%. The number so 
obtained is 10 less than the original number. What was the original 
number?  
a. 2000  b. 1000  c. 500  d. 100  e. Answer not known 
xU vz;zhdJ Kjypy; 10% msT Fiwf;fg;gl;L gpd; 10% msT  
mjpfhpf;fg;gLfpwJ. ,t;ntz; Kjy; nfhLf;fg;gl;l vz;zpd; mstpy; 10   
FiwT MFk; vdpy;> me;j vz;izf; fhz;f. 
a. 2000  b. 1000  c. 500  d. 100  e. tpil njhpatpy;iy  

 

20. A man saves Rs. 3,000 per month from his total salary of Rs. 20,000. The 
percentage of his saving is   
a. 5%     b. 10%  c. 15% d. 20% e. Answer not known 
khj tUkhdk; &. 20>000 ngWk; egh; xUth; xt;nthU khjKk; &. 3>000I 
Nrkpg;G nra;fpd;whh; vdpy; mtUila khjr; Nrkpg;G rjtPjk; 
a. 5%  b. 10%  c. 15% d. 20% e. tpil njhpatpy;iy 

 

21. Match the following 
A. Marudham   1. Eyinar 
B. Neydal    2. Uzhavar 
C. Palai    3. Aayar 
D. Mullai    4. Parathar 
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 A B C D 
a. 4 1 2 3 
b. 2 3 1 4  
c. 1 4 3 2 
d. 2 4 1 3  e. Answer not known 
gpd;tUtdtw;iwg; nghUj;Jf.  
A. kUjk;   1. vapdh;  
B. nea;jy;  2. coth;  
C. ghiy  3. Mah;  
D. Ky;iy  4. gujh;  
 A B C D 
a. 4 1 2 3  
b. 2 3 1 4  
c. 1 4 3 2  
d. 2 4 1 3  e. tpil njhpatpy;iy  
 

22. A Tutelary tree, destruction of which was symbolic of the defeat of the 
ruler was, 
a. Kodimaram   b. Kadimaram  c. Kazhumaram 
d. Karanthaimaram  e. Answer not known 
xU kd;did ntw;wpf; nfhs;tjw;F milahskhf ntl;b tPo;j;jg;gLk; 
fhty; kuk;  
a. nfhbkuk;   b. fbkuk;   c. fOkuk;   
d. fue;ij kuk;   e. tpil njhpatpy;iy  

 

23. Identify the rightly matched pairs. 
1. Stealing the cattle   - Vetchi Flower 
2. Seiging the wall of fortress - Nochi Flower 
3. Winning the battle   - Vagai Flower 
a. 1 and 2 only   b. 2 and 3 only  c. 1 and 3 only 
d. All the above   e. Answer not known 
rhpahf nghUe;jpAs;s ,izfisf; fz;lwpf.  
1. Mepiu fth;jy;    - ntl;rpg; G+ 
2. kjpy; tisj;J Nghh; Ghpjy;  - nehr;rpg; G+ 
3. Nghhpy; ntw;wp ngWjy;  - thifg; G+ 
a. 1 kw;Wk; 2 kl;Lk;   b. 2 kw;Wk; 3 kl;Lk;  
c. 1 kw;Wk; 3 kl;Lk;   d. Nkw;fz;l midj;Jk;  
e. tpil njhpatpy;iy  

 
24. Which of the following statements about the status of women is incorrect 

during the period of 13th century to 18th century AD in Tamil Nadu? 
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a. Women were denied education 
b. Sati was in practice 
c. Divorce was allowed 
d. Women were involved in music and dance 
e. Answer not known 
jkpofj;jpy; 13 Mk; E}w;whz;L Kjy; 18 Mk; E}w;whz;L tiuapyhd 
fhyj;jpy; ngz;fspd; epiy Fwpj;j jtwhd $w;iwf; fz;lwpf.  
a. ngz;fSf;F fy;tp kWf;fg;gl;lJ.  
b. cld;fl;il VWjy; tof;fj;jpy; ,Ue;jJ.  
c. tpthfuj;J mDkjpf;fg;gl;lJ.  
d. ,ir kw;Wk; eldj;jpy; ngz;fs; ehl;lk; fhl;bdh;  
e. tpil njhpatpy;iy  

 
25. The capital of Vadakalai Vaishnavism was,  

a. Sringeri   b. Kanchipuram  c. Srirangam 
d. Dwaraka  e. Answer not known 
tlfiy itztj;jpd; jiyikaplkhf nray;gl;lJ 
a. rpUq;Nfhp  b. fhQ;rpGuk;    c. jpUtuq;fk;   
d. Jthuif   e. tpil njhpatpy;iy  

 
26. The book “A comparative grammar of the Dravidian Languages” was 

written by, 
a. Robert Caldwell  b. G.U. Pope   c. Francis Ellis 
d. Wiliam Jones   e. Answer not known 
“jpuhtpl nkhopfspd; xg;gpyf;fzk;” vDk; Gj;jfj;ij vOjpath;. 
a. ,uhgh;l; fhy;Lnty;  b. [p.A. Nghg;   c. gpuhd;rp]; vy;yp];  
d. tpy;ypak; N[hd;];  e. tpil njhpatpy;iy  

 
27. Who called India as the Museum of Languages? 

a. S. Agathiyalingam   b. Devaneya Pavanar 
c. Max Muller    d. Rasmus Rask 
e. Answer not known 
,e;jpahit nkhopfspd; fhl;rprhiy vd;W mioj;jth; ahh;?  
a. r. mfj;jpa ypq;fk;  b. Njt Nea ghthzh;   c. Nkf;]; Ky;yh;  
d. uh];k]; uh];f;   e. tpil njhpatpy;iy  
 

28. The percentage of 10 minutes in one hour is 

a. 16
2

3
% b.16 

1

3
% c. 16% d. 17%  e. Answer not known 

xU kzpapy; 10 epkplq;fspd; rjtPjk; vd;gJ 

a. 16
2

3
% b.16 

1

3
% c. 16% d. 17%  e. tpil njhpatpy;iy 
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29. Akila scored 80% in an examination. If her score was 576 marks, find the 
maximum marks of the examination. 
a. 750 b. 830 c. 720 d. 870 e. Answer not known 
mfpyh xU Njh;tpy; 80% kjpg;ngz;fisg; ngw;whs;. mts; ngw;wJ 576 
kjpg;ngz;fs; vdpy;> me;j Njh;tpd; nkhj;j kjpg;ngz;fisf; fhz;f. 
a. 750 b. 830 c. 720 d. 870 e. tpil njhpatpy;iy 

 
30. What percent of 850 metres is 225 metres? 

a. 26.49%  b. 26.48%   c. 26.47%   d. 26.46%      e. Answer not known 
850 kPl;lhpy; 225 kPl;lh; vd;gJ vj;jid rjtPjk;? 
a. 26.49% b. 26.48% c. 26.47% d. 26.46%  e. tpil njhpatpy;iy 
 

31. Which of the following literature said that husband can be separated from 
wife upto three years for education? 
a. Silapadhikaram  b. Tholkappiyam  c. Agananooru 
d. Manimegalai   e. Answer not known 
gpd;tUk; ve;j rq;f ,yf;fpak; fztd; kidtpiaf; fy;tpf;fhf %d;W 
Mz;Lfs; tiu gphpayhk; vd;W $WfpwJ?  
a. rpyg;gjpfhuk;   b. njhy;fhg;gpak;   c. mfehD}W  
d. kzpNkfiy    e. tpil njhpatpy;iy  
 

32. The Sangam literature which is considered to be a “Purapporul” literature, 
a. Kurinjipattu   b. Pattinappalai   c. Mullaipattu 
d. Madurai Kanchi  e. Answer not known 
rq;f ,yf;fpaq;fspy; Gwg;nghUs; E}yhff; fUjg;gLtJ  
a. FwpQ;rpg; ghl;L   b. gl;bdg;ghiy   c. Ky;iyg;ghl;L  
d. kJiuf; fhQ;rp   e. tpil njhpatpy;iy  

 
33. Match the following literature with their compiles  

A. Kalithogai   1. Poorikko 
B. Agananooru   2. Koodalur Kizhar 
C. Aingurunooru  3. Nallanthuvanar 
D. Kurunthogai   4. Uruthirasanmanar 
e. Answer not known 
gpd;tUk; rq;f ,yf;fpaq;fis mtw;iwj; njhFj;jth;fSld; nghUj;Jf.  
A. fypj;njhif   1. G+hpf;Nfh  
B. mfehD}W   2. $lY}h; fpohh;  
C. Iq;FEW}W   3. ey;ye;Jtdhh;  
D. FWe;njhif   4. cUj;jpu rd;kdhh;  
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 A B C D 
a. 1 4 3 2  
b. 3 4 2 1  
c. 4 1 2 3  
d. 3 2 1 4 e. tpil njhpatpy;iy  
 

34. The Pathinen Keezhkanakku literature of Saivism was, 
a. Naaladiyar  b. Naanmani Kadigai  c. Inna Naarpadhu  
d. Thirukkural  e. Answer not known 
gjpndz; fPo;fzf;F E}y;fSs; irt rkak; nfhz;l E}y;  
a. ehybahh;  b. ehd;kzpf; fbif   c. ,d;dh ehw;gJ  
d. jpUf;Fws;   e. tpil njhpatpy;iy  
 

35. “Selvar manam pol Kavin eendra, nalkoorndhar  
Menipol pul endra kadu” – is from  
a. Inna narpadhu   b. Thinaimozhi aimbadhu  
c. Kalavazhi narpadhu d. Kaar narpadhu   e. Answer not known 
“nry;th; kdk;Nghy; ftpd; <d;w> ey;$h;e;jhh;  
NkdpNghy; Gy;vd;w fhL - ,lk; ngWtJ>  
a. ,d;dh ehw;gJ  b. jpiznkhop Ik;gJ  c. fstop ehw;gJ   
d. fhh; ehw;gJ   e. tpil njhpatpy;iy 
 

36. Thirukkural was translated in Latin by  
a. Veeramamunivar   b. G.O. pope   
c. Francis Ellis    d. E.S. Ariel  e. Answer not known 
jpUf;Fwis ,yj;jPdpy; nkhop ngah;j;jth;.  
a. tPukhKdpth;  b. Ip.A. Nghg;   c. gpuhd;rp]; vy;yp];  
d. ,.v];. Vhpay;  e. tpil njhpatpy;iy  

 
37. Which among the five great epics is called as reformist epic (Seerthirutha 

Kaapiyam)? 
a. Silapadhikaram   b. Manimagalai  
c. Chivaka Chinthamani d. Kundalakesi  e. Answer not known 
Ik;ngUq;fhg;gpaq;fspy; vJ rPh;jpUj;jf; fhg;gpak; vd;wiof;fg;gLfpwJ?  
a. rpyg;gjpfhuk;   b. kzpNkfiy   c. rPtf rpe;jhkzp  
d. Fz;ly Nfrp   e. tpil njhpatpy;iy  

 
38. Two numbers are respectively 10% and 25% more than a third number. 

The percentage of the first to the second is 
a. 65% b. 75% c. 80%  d. 88% e. Answer not known 
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,uz;L vz;fs; %d;whk; vz;iztpl KiwNa 10% kw;Wk; 25% mjpfk; 
vdpy; Kjy; vz;zhdJ ,uz;lhk; vz;zpd; _______ rjtPjk; MFk;. 
a. 65% b. 75% c. 80%  d. 88% e. tpil njhpatpy;iy 
 

39. In a school of 1,400 students there are 420 girls. Find the percentage of boys 
in the school? 
a. 30% b. 70% c. 50% d. 80% e. Answer not known 
xU gs;spapy; cs;s 1400 khzth;fspy;> 420 Ngh; khztpfs;> gs;spapy; 
cs;s khzth;fspd; rjtPjk; fhz;f. 
a. 30% b. 70% c. 50% d. 80% e. tpil njhpatpy;iy 

 
40. Two number A and B are such that the sum of 5% of A  and 4% of B is two-

third of the sum of 6% of A and 8% of B. Find the ratio of A : B. 
,U vz;fs; KiwNa A, B MFk;. A vz;zpd; 5% kw;Wk; B vz;zpd; 4% 

,tw;wpd; $Ljy; MdJ Ad; 6% kw;Wk; Bd; 8% $Ljypd; 2
3

 klq;fpw;Fr; 

rkk; vdpy; A : B d; tpfpjk;  
a. 2 : 3  b. 1 : 1  c. 3 : 4  d. 4 : 3  e. Answer not known 

 

41. Match the following  
A. Silapadhikaram   1. Ilango Adigal  
B. Manimekalai    2. Nathakuthanar 
C. Chivaka Chintamani 3. Seethalai Sathanar  
D. Kundalakesi   4. Thiruthakka Thevar  
gpd;tUtdtw;iwg; nghUj;Jf.  
A. rpyg;gjpfhuk;   1. ,sq;Nfhtbfs;  
B. kzpNkfiy   2. ehjFj;jdhh;  
C. rPtf rpe;jhkzp   3. rPj;jiy rhj;jdhh;.  
D. Fz;lyNfrp   4. jpUj;jf;f Njth;  
 A B C D 
a. 1 3 4 2  
b. 1 4 2 3  
c. 1 2 3 4  
d. 1 3 2 4  e. tpil njhpatpy;iy  
 

42. The protagonist of the epic Choolamani is  
a. Udayanan   b. Yasodharan    c. Thivittan  
d. Visayan   e. Answer not known 
#shkzp fhg;gpaj;jpd; fjhehafd;  
a. cjazd;  b. aNrhjud;    c. jptpl;ld;  
d. tprad;   e. tpil njhpatpy;iy  
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43. Thirumanam Selva Kesavarayar called Thirukkural and ______ as 
“Tamizhukka gathi”. 
a. Silapadhikaram   b. Neelakesi  c. Periya puranam 
d. Kambaramayanam  e. Answer not known 
jpUkzk; nry;tf; Nfrtuhah; jpUf;Fws; kw;Wk; _____ I “jkpOf;F fjp” 
vd;W $wpAs;shh;.  

 a. rpyg;gjpfhuk;   b. ePyNfrp    c. nghpaGuhzk;  
d. fk;guhkhazk;   e. tpil njhpatpy;iy  

 
44. Thiruvilaiyaadal puranam was authored by  

a. Sekkizhar   b. Kambar   c. Paranjothi Munivar  
d. Thirumoolar   e. Answer not known 
jpUtpisahlw;Guhzj;ij ,aw;wpath;  
a. Nrf;fpohh;  b. fk;gh;   c. guQ;Nrhjp Kdpth;  
d. jpU%yh;   e. tpil njhpatpy;iy  

 
45. Who among the following is not mentioned in moovarula?  

a. Vikrama Chozha   b. Kulothunga Chozha  
c. Rajaraja Chozha   d. Rajendra Chozha  e. Answer not known 
gpd;tUgth;fSs; ahh; %tUyhtpy; ,lk; ngwtpy;iy?  
a. tpf;fpuk Nrhod;  b. FNyhj;Jq;f Nrhod;  
c. ,uh[uh[ Nrhod;  d. ,uhN[e;jpu Nrhod;  
 

46. The Nayanmar who was called” Dravida Sisu” by Adi Shankara  
a. Thirunavukkarasar   b. Sundarar  c. Manickavasagar   
d. Thirugnana Sambandhar  e. Answer not known 
Mjp rq;fuuhy; “jpuhtpl rpR” vd;wiof;fg;gl;l ehad;khh;.  
a. jpUehTf;furh;  b. Re;juh;   c. khzpf;fthrfh;  
d. jpUQhd rk;ge;jh;  e. tpil njhpatpy;iy  

  
47. Identify the correct statements. 

1. Naalayira Dhivya Prabantham was compiled by Nambiyandar Nambi  
2. Thiruppavai was authored by Aandal  
3. Nammazhvar was called as Tamizh Seitha Maaran  
a. 1 and 2 only   b. 2 and 3 only   c. 1 and 3 only  
d. All the above   e. Answer not known 
rhpahd $w;Wfisf; fz;lwpf.  
1. ehyhapu jpt;a gpuge;jj;ijj; njhFj;jth; ek;gpahz;lhh; ek;gp Mthh;.  
2. jpUg;ghitia ,aw;wpath; Mz;lhs;  
3. ek;kho;thh; jkpo; nra;j khwd; vd;W miof;fg;gl;lhh;.  
a. 1 kw;Wk; 2 kl;Lk;  b. 2 kw;Wk; 3 kl;Lk;  c. 1 kw;Wk; 3 kl;Lk; 
d. Nkw;$wpa midj;Jk;  e. tpil njhpatpy;iy  
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48. When a number is decreased by 25% it becomes 120. Find the number. 
a. 180  b. 170    c. 160   
d. 150  e. Answer not known 
Xh; vz;zpd; kjpg;ig 25% Fiwj;jhy; 120 fpilf;fpwJ vdpy;> me;j 
vz;izf; fhz;f. 
a. 180  b. 170    c. 160   
d. 150  e. tpil njhpatpy;iy 

 
49. What percent 15 paise of 2 Rupees 70 paise.  

2 &gha; 70 igrhtpy; 15 igrhtpd; rjtPjk;?  
a. 85 %

9
  b. 35 %

9
    c. 25 %

9
   

d. 55 %
9

   e. Answer not known 

 
50. If price of a tea increased by 20%, by what percentage must the 

consumption be reduced to keep the expense the same 

a. 
2

15 %
3

  b. 
2

16 %
3

    c. 
2

17 %
3

   

d. 
2

18 %
3

  e. Answer not known 

Njapiyapd; tpiy 20% mjpfhpf;Fk;NghJ Njapiy gad;ghl;bd; nryT 
khwhky; ,Uf;f Njapiy gad;ghl;bid vj;jid rjtPjk; 
Fiwj;Jf;nfhs;s Ntz;Lk;? 

a. 
2

15 %
3

  b. 
2

16 %
3

    c. 
2

17 %
3

   

d. 
2

18 %
3

  e. tpil njhpatpy;iy 
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WEEK TEST 2 OF JULY, 2023 
 

1 2 3 4 5 6 7 8 9 10 
C A D B D B D B C D 

11 12 13 14 15 16 17 18 19 20 
A C B B A C A D B C 

21 22 23 24 25 26 27 28 29 30 
D B D C B A A A C C 

31 32 33 34 35 36 37 38 39 40 
B D B C D A B D B D 

41 42 43 44 45 46 47 48 49 50 
A C D C D D B C D B 

 
 


